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NO X=F E2 th#FE | B |IEM)| THED | T-E | FEEE
5 (N ALl 721-4 M 222 N R g |Exexvess
12 N = H 113 52| 931 B | EREETHEY
13 N BFHE | 336-1 M 722 B |ExexTwEy
14 N B3 H 589 22} 328 =i EFHETOES
15 N =L | 836-1 H 9,324 H | EReETHEY
16 N =L | 836-3 H 2,099 H | EReETHEY
17 LN =Rl 836-6 2] 195 g ERBETEYES
18 N iR 791 H 2,367 B | EReETHEM
23 E AR 421 52| 1,251 = B
24 e AR 423 H 148 = B
25 e TYF 227-1 52| 818 = B
26 e TYF 227-2 H 764 = B
27 e TYF 420-1 H 1,145 = B
28 e AR | 4271 52| 807 = B
29 B P 5 52-1 52| 1,074 = B
30 i P 54 52| 1,450 = B
31 BiR P 64 H 1,197 = B
32 E EAR 42-1 H 1,566 = B
33 R EEHT 44-1 52| 2,479 = B
34 R EEHT 49-1 52| 1,784 = B
35 R E2hAT 96-1 M 1546 |nHzREHE| B EMHK
36 R EEHT 47-1 52| 1,068 = B
39 e TR 397 H 765 = B
40 e DU 361 bl 1,146 = B
41 BiR —AKFE | 690-3 H 1,025 = B
42 e —ARAKE| 719 H 931 = B
43 B —ARKE| 720 52| 972 = B
44 Ed5 =1l 1359 H 2,770 5t B
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45 Ed5d iR 1331-16 H 1,313 5t B
46 BEFMH |votoAR| 1611-53 52| 1,988 5t B
47 EFE |VoEsA®| 1611-96 M 653 = EARH
48 EE) BET 27 52| 1,018 5t B
68 E KT 1322 H 1,377 = B
69 E BART | 1323-1 52| 354 = B
70 E EiR 1436 H 937 = B
71 E EiR 1437 H 1,272 = B
72 E EiR 1443-3 H 3,346 = B
73 E EiR 14441 52| 606 = B
74 e EiR 14461 52| 2,872 = B
75 e EiR 1446-5 H 668 = B
76 e EiR 1446-6 H 72 = B
77 e FEEEM | 1859-6 H 762 B BRI
78 e FFREM | 1859-7 H 1,304 = B
79 e FERAT | 1859-12 H 99 = B
80 E FERAT | 1859-13 H 21 = B
81 E FERAT | 1859-14 H 178 = B
82 E FERAT | 1859-15 H 39 = B
83 e T 256 1531 H 788 5t B
84 BiR [5iR 1000-1 52| 2,253 5t B
85 BiR [5iR 1000-3 H 2,473 5t B
86 INA 21l 510-3 52| 624 " 8

87 INA 21l 510-4 52| 2,226 " 8

88 INA 21l 510-5 52| 3,361 = 8

90 B =f 338 52| 1,970 5t B
92 EE) P 4115 H 714 5t B
99 &4 EREIFIAR | 1022-2 H 2,793 = B
100 &4 EREIFIAR | 1277-3 H 384 = B
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101 &% EREIFAR | 1277-5 H 1,729 = EHEE
102 & | zmEmae| 1280 H 259 =i EAEEK
103 £ AREIFAAE [ 14121 I 152 = BmHAK
104 &% EREIFIAR | 1412-2 H 2,966 = EHEE
105 K =R 1314-1 M 1,494 & EAR
106 5 FR 1329-87 H 2,176 = EHEE
107 R R 877-1 H 1,157 g BEIET R
108 FERE 18R 884-4 H 1,298 g | swimewoEs
109 R iR 884-10 H 2,953 g BEIET R
110 ¥R 18R 884-11 H 3152 g | swismewoss
111 FEFE iR 884-12 H 618 = BEIETE
112 FERE 18R 911-7 H 4,663 g | swimewoss
113 R FTEBE] | 899-3 H 1,992 g BEIETE
114 EE) R 2365-1 M 429 = EHEE
115 EE) R 2365-2 H 50 = EHEE
116 EE) | J\WEAEIR | 4043-1 H 501 B ERH
117 EE)N | J\WERIR | 4044 H 1,564 = EHEE
118 N ERH 106 H 610 B EARK
119 N 75/ il 165 H 848 = EHEE
120 N aLt= 547 H 970 B ERH
121 N atE 549 52| 530 =1 EHEH
122 N ALLER | 684-1 M 786 = EHEE
123 N ALER | 684-2 H 593 = EHEE
124 TR Etul 80-1 M 1,399 |Fkig@Em| 5% EHEE
125 e F M LR 1201-2 H 1,364 = EHEE
126 e+ AH IR 1209 H 1,065 = EHEE
128 Fée F A % 1231-2 XM 854 =1 EHEK
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129 Fée ¥ A % 1230-2 H 794 = B
130 Fée F A % 1228-2 H 463 = B
132 TRRA —Ei¥ | 761-1 H 744 = B
135 TRRA TE|L | 774-14 H 1887 = B
136 TRRA TE|L | 774-15 H 1,326 = B
137 TRRA T | 774-16 H 1,378 = B
141 Bz%k BIRLE | 2507-18 H 1,772 5t B
142 Bz%k AIRLE | 2507-24 H 122 5t B
143 Bz%k AR LE | 2507-26 H 1,095 5t B
144 Bzxk L3R 996-1 M 362 5t B
145 Bz%k BIRLE | 2513-1 52| 927 5t B
146 Bz%k AIRLE | 2513-2 H 924 5t B
147 Bz%k AIRLE | 2513-3 H 841 5t B
148 Bz%k AR L 1361 b 206 5t B
149 EE) | #EILT | 49791 2,522 5t B
150 EE) KAZHT | 1909-1 2,034 = B
151 EE) R#AHET | 1909-2 H 764 = B
152 EE) B 4546 bl 896 = B
159 Eol5d g 40-7 b 176 SR B
160 o5 Ipg:: 41-1 I 350 =1 =Rk
161 £ L1/ 4 41-2 gl 1,548 5erE | BAEH
162 Eol5d TP 43-2 52| 1,713 SR B
163 Ed5 P 43-3 H 1,781 SR~ B
164 Eol5d TP 43-5 52| 2,175 SR B
165 Ed5 P 43-6 H 2,191 SR~ B
166 Eol53 g 43-8 52| 3,572 SR B
167 Ed5 Iy 315-1 52| 4,091 TR~ | B




#AE45 (BEER)

KomERMNVI—ER 4Mes 1858 BE
168 B EA®R | 2229-1 b 4,671 " B
169 m3A] JR I 4033 e 505 i A
170 [m)3a] iR I 4035 pi 2,284 = ERH
171 AT JR mJIE | 4082-1 M 694 = B
172 =5 RIE 650 H 1,203 5t B
173 B3 MR 2521 H 3,005 g ER
174 B MR 2531 H 2,828 g ERK
175 B3 MR 2541 H 2,725 g ER
176 =317 HEE 4-5 H 1,538 g B
177 B3 HEE 4-6 H 1,343 B BRI
178 =317 HEE 4-7 H 703 g ER
179 B HEE 4-9 H 469 = EHEE
180 FafNHE HiIE 769 H 4,203 5t B
181 FfHE =TF 846 H 1,325 5 ER
182 FIFIH BF 847 M 9,889 = B
183 FafNHE B 882 H 6,951 5t B
184 i A H/A 472-1 H 2,576 = B
185 Fii R iE H/A 631 H 3,928 = EHEE
186 MAE | ¥5A% | 8171 M 2,885 =1 EHEE
187 MAE | ¥5A% | 817-2 M 2,795 =1 EHEE
188 B RAKR | 523-2 52| 1,156 SR B
189 B RAKZR | 523-4 52| 74,034 SR B
190 | Ea&#I LHETE | 3793-1 M 1,289 B BRI
191 EE) EHTE | 3794-1 H 1,451 B ERH




